[ > restart

> Ecuacion := 2-diff (z(x, y), X$2,y) — 2-diff (z(X, y), X, y¥) =z(X, y)

Ecuacion =2 (

& z(x,y)j —2(

Z(X, =27(X,
oy 0 ( y)) (X Y)

0°
dy X

=> EcuacionDos := eval (subs(z(x, y) =F(x)-G(y), Ecuacion))

] (i G(y)) _2 (i F(x)) (diy G(y)) =F(x) G(y)
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EcuacionDos = 2 (d— F(X)

i e

dy dx

lhs(EcuacionDos)

> EcuacionTres := simplify( >

EcuacionTres:=

F()-diff (G(y),y) ) =simoiit|
d d
LR [ F
o (dx (X)) 1 Gly)
F(x) 2

[ > EcuacionX := Ilhs(EcuacionTres) =-1

% F(x) — (i F(x))

EcuacionX := =-1

F(X)

[~ EcuacionY := rhs(EcuacionTres) =-1

EcuacionY:= —

1 Gyl _ 4
2 4 gy
dy y

[ > SolucionX = dsolve( EcuacionX); SolucionY := dsolve( EcuacionY)

SolucionX ;= F(x) =

SolucionY:=G(y) = _Cle

> Ecuacion

’ [ aya;x2
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Cle? sn(% ﬁx) + c2e?

X

cos(% J3 x)

1
5 Y

& _
Z(X’ Y)j -2 ( ayax Z(X’ Y)) _Z(X! Y)

=> SolucionGeneral := z(x, y) =rhs(SolucionX) -subs(_C1 =1, rhs(SolucionY) )
1

1

1, 1
SolucionGeneral := z(x, y) = [_Cl e? sin(% \/?x) + C2e? cos(% \/?x)

rhs(EcuacionDos) )
-F(x) -diff (G(y), y)

1,

=> Comprobacion, := simplify(eval(subs(z(x, y) =rhs(SolucionGeneral), Ihs(Ecuacion)

—rhs(Ecuacion) =0)))

Comprobacion, :=0=0
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